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P - B fiT R 1,050 1,220 2,000 2,000 1,476 182 14.1
BT —E RB 985 1,000 1,100 985 1,040 8 0.8
EIEH 1,000 1,000 1,100 1,000 1,098 10 0.9
BRE Y —F RBY 1,000 1,050 1,100 1,000 1,063 1 0.1
SUERSE RS/ \—B 1,000 1,030 1,100 1,000 1,073 20 1.9
Bl AT TR 1,000 1,100 1,200 1,000 1,130 27 2.4
Z0ith 985 1,000 1,100 985 1,029 -51 -4.7
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EIEH 990 990 1,000 990 1,020 -13 -1.3
BRE Y —F RBY 985 1,000 1,000 1,000 1,020 15 1.5
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&5t 985 1,000 1,120 983 1,169 87 8.0
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25%ile 50%ile 75%ile xHAE EifE | BIREE () | 1BIRER (%)
P - B fiT R 1,000 1,600 2,000 2,000 1,517 272 21.8
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EIEH 900 950 950 950 972 25 2.6
BRE Y —F RBY 900 930 970 900 948 19 2.0
SUERSE RS/ \—B 900 950 1,030 900 998 0 0.0
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25%ile 50%ile VAL xHAE EifE | BIREE () | 1BIRER (%)
P9 B TR 1,055 2,000 2,000 2,000 1,632 454 38.5
BT —E RB 900 950 1,000 900 951 -19 -2.0
EIEH 900 900 950 900 957 -4 -0.4
BRE Y —F RBY 900 920 950 900 940 6 0.6
SUERSE RS/ \—B 900 920 990 900 960 -14 -1.4
BRAVTFURE 900 930 1,000 900 976 37 3.9
Z0th 985 1,000 1,000 1,000 1,005 4 0.4
&5t 900 950 1,000 900 1,075 66 6.5

AR FEEET (-TIE YU TIVEL, XTI U T ILEA ~5)
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SHRIANIL I S— 1,363 I 932
¥ELT EEEEL 1,100 wa 910
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LAKHERA) BIEER] A LR

25%ile 50%ile 75%ile xHAE EifE | BIREE () | 1BIRER (%)
P - B fiT R 1,000 1,100 1,500 1,000 1,290 16 1.3
BT —E RB 881 936 950 940 937 43 4.8
EIEH 900 950 1,000 950 977 23 2.4
BRE Y —F RBY 900 940 950 900 934 25 2.8
SUERSE RS/ \—B 900 940 1,000 1,000 960 -2 -0.2
BRAVTFURE 900 940 980 940 948 36 3.9
Z0th 900 936 1,000 1,000 958 8 0.8
a&t 900 950 1,020 1,000 1,042 42 4.2

AR FEEET (-TIE YU TIVEL, XTI U T ILEA ~5)
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L] 1,564 — R =T 959
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SHl [REAECRER 960 OB o [FEE BER5yD 978
SHRIANIL I S— 1,211 I 916
FELT CEEELT 1,065 wa 939
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R 1,190 ER-NHRYY —=2Y 936
R -dEE |[7AVh-ZAER 948 =L RNyRAL X 957
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25%ile 50%ile 75%ile xHAE EifE | BIREE () | 1BIRER (%)
P - B fiT R 1,000 1,100 1,400 1,000 1,270 -28 -2.2
BR%-EREY—E B 890 940 950 940 949 14 1.5
EX 936 950 1,000 950 986 20 2.1
frEY—E RB 900 940 960 900 950 25 2.7
BUERRE - K S5A/\—H; 900 950 1,000 1,000 980 6 0.6
Bl AT TR 900 940 1,000 940 960 38 4.1
Z0ith 936 1,000 1,000 1,000 981 2 0.2
a&t 930 950 1,050 1,000 1,047 17 1.7

AR FEEET (-TIE YU TIVEL, XTI U T ILEA ~5)
Xn8E | HEE F #4518 (A) XN |IHEE | T191E (F)
& AT 1,564 — R BT 976
S E AT 1,499 =B |(EREE- BRI 947
B3 2,081 CE X 961
MR 5 (A A1) 1,019 HITRBYT 932
gﬁﬁ FESR /58 (BEK) 979 ﬂ_ﬁkt%ﬁ SIRER - SRR R 1,000
SHREAIL I S— 1,237 B 939
FELT CEEELT 1,074 e 949
REL 1,036 BEMAEX 967
BT 1,393 HEEEE- (RS 963
avE= 921 RoAN—H Rt L 928
A—IN\— 927 BREEEREIEEE 986
(NS 4 914 Bk -ERE-F oA /\— 1,037
IR 1,200 BRN\DRY)—=2T 948
R -igEx |7V ZAER 958 =L RyR ALY 972
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LAKHERA) BIEER] A LR

25%ile 50%ile 75%ile xHAE EifE | BIREE () | 1BIRER (%)
P - B fiT R 1,000 1,100 1,400 1,000 1,278 -76 -5.6
BT —E RB 940 950 1,000 940 983 10 1.0
el 940 950 1,060 940 1,014 21 2.1
frEY—E RB 940 950 1,000 940 976 32 3.4
SUERSE RS/ \—B 940 960 1,010 940 1,010 12 1.2
Bl AT TR 940 950 1,000 940 976 35 3.7
Z0ith 936 1,000 1,000 1,000 1,006 -9 -0.9
&5t 940 980 1,100 940 1,076 -3 -0.3

AR FEEET (-TIE YU TIVEL, XTI U T ILEA ~5)
Xn8E | HEE F #4518 (A) XN |IHEE | T191E (F)
& AT 1,560 — R BT 1,003
S E AT 1,525 =B |(EREE- BRI 966
B3 1,991 CE X 958
MR 5 (A A1) 1,030 HITRBYT 953
SHl [REAECRER 1,002 OB o [FEE BER5yD 1,023
SHREAIL I S— 1,241 I 959
FELT CEEELT 1,088 e 984
REL 1,051 BEMAEX 981
BT 1,435 HEEEE- (RS 988
aVE= 962 RoAN—H Rt L 953
A—IN\— 958 BREEEREIEEE 1,009
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